

                                 -120 Multiple Choice Questions
	1. 
	Which of the following tasks should be accomplished using an interactive system?

(1) Withdrawing money from a bank account through an automatic teller machine

(2) Sending bank statement to customers

(3) Booking airline tickets

A. (1) only

B. (2) only

C. (3) only

D. (1) and (2) only

E. (1) and (3) only 

(2000 MC No.30)


	Since the actions in (1) and (3) tasks involving continuing dialogues between users and computer, so they need an interactive system.

∴ the answer is E.



	2. 
	A company uses a sequential file to store the records of its employees. Which of the following statements is/are true?

(1) An employee’s record can be located using a sequential search.

(2) An employee’s record can be located can be using a binary search.

(3) An employee’s record can be located directly.

A. (1) only

B. (2) only

C. (3) only

D. (1) and (2) only

E. (1) and (3) only 

(2000 MC No.31)


	The answer is A.


	3. 
	In a school, Name, Class, Class_no are three fields in a file used to store student names, classes and class numbers respectively.  Which of the following can be used as the key field?

A. Name

B. Class_no

C. Class and Name
D. Class and Class_no
E. Class_no and Name
(2000 MC No.32)


	The key field should be unique for each one, so only class_no can be used as a key field.
∴ the answer is B.



	4. 
	To avoid network failure caused by the malfunction of a node in a network, which of the following network topologies should be implemented?

(1) Ring

(2) Bus

(3) Star

A. (1) only

B. (1) and (2) only

C. (1) and (3) only

D. (2) and (3) only

E. (1), (2) and (3)

(2000 MC No.33)


	In a ring network, all the nodes are connected in a continuous loop. If one node fails, the whole network will break down.

∴ Bus and Star network should be used to prevent this problem.

∴ the answer is D. 



	5. 
	program Q36;

begin 

     writeln(trunk(abs(-9.5)-2)div2)

end.

A. 0

B. 1

C. 2

D. 3

E. 4 

(2000 MC No.36)
	abs(-9.5) -2 = 7.5
trunk(7.5) = 7

7 div 2 = 3

∴ the answer is D.

	6. 
	program Q37;

var

x, y, z : string;

begin

  x := ‘10101010’;

  y := ‘10101’;

  z := x + y;

  writeln(copy(z,2,3) + copy(z,5,2))

end.

A. 00100

B. 01010

C. 01011

D. 01101

E. 01110 

(2000 MC No.36)


	z = ‘1010101010101’
copy z, 2. 3 = 1010101010101 = 010

copy z, 5, 2 = 1010101010101 = 10

∴ the output is ‘01010’.

∴ the answer is B.



	7. 
	program Q38;

const k = 7;

var s : string[k];

   i : integer;

begin

  s := ‘legco’;

  case s[k-length(s)]of

    ‘o’:  i:=2;

    ‘c’:  i:=4;

    ‘g’:  i:=6;

    ‘e’:  i:=8;

    ‘l’:  i:=10;

  else 

    i :=5

  end;

  writeln(i mod k)

end.

A. 0

B. 1

C. 2

D. 3

E. 4 

(2000 MC No.38)


	s[ 7 - 5 ] = s[2] = ‘e’ ∴ i = 8

8 mod 7 = 1

∴ the answer is B.

	8. 
	program Q39;

var x, y, z :integer;

procedure change (x, y, z :integer);

begin

  x := y;

  y := z;

  writeln(x, y, z)

end;

begin

  x := 1;

  y := z;

  z := 3;

  change(y, z, x);

  writeln(x, y, z)

end.

A. 231

123

B. 233

C. 123

D. 311

123

E. 231

231

F. 311

311

(2000 MC No.39)


	In the procedure ’change’, output: x=3, y=1, z=1.
In the main program, output: x=3, y=1, z=1.

∴ the total output is: 311  123

∴ the answer is C.



	9. 
	program Q40;

var data : array [1..6] of integer;

k : integer;

begin

  for k := 1 to 6 do

     data[k] := 7-k;

  k := data[data[k-1]];

  writeln(data[data[k]*k-data[3]]+data[k])

end.

A. 3

B. 6

C. 8

D. 11

E. 12 

(2000 MC No.40)


	k

data [ k ]

1

data [ 1 ] = 6

2

data [ 2 ] = 5

3

data [ 3 ] = 4

4

data [ 4 ] = 3

5

data [ 5 ] = 2

6

data [ 6 ] = 1

k = data [ data [ 6 – 1 ] ] = data [ 2 ] = 5.

data [ 5 ] * 5 – data [ 3 ] = 10 – 4 = 6.

data [ 6 ] + data [ 5 ] = 3.

∴ the answer is A.


	10. 
	program Q41;

var i, j : integer;

begin

  i := 2;

  for j := 3 downto 0 do

  begin

    i := i + j;

    write(1)

  end

end.

A. 543

B. 578

C. 5432

D. 5433

E. 5788

 (2000 MC No.41)


	i = 2 + 3 = 5
 = 5 + 2 = 7

= 7 + 1 = 8

= 8 + 0 = 8

∴ the output is ‘5788;.

∴ the answer is E.



	11. 
	program Q44;

var a, b. c : integer;

procedure p1;

var a, c : integer;

   procedure p2;

   var b : integer;

   begin

       a :=4;

       b :=5;

       write(a,b,c)

   end;

begin

  a := 4;

  c := 6;

  write(a,b,c);

  p2;

  write(a,b,c)

end;

begin

  a := 1;

  b := 2;

  c := 3;

  p1;

  write(a,b,c)

end.

A. 456456456123

B. 456453456123

C. 426453426426

D. 426456426123

E. 426456456123

(2000 MC No.44)


	a

b

C

4

2

6

4

5

6

4

5

6

1

2

3

∴ the answer is E.



	12. 
	1st statement

In a microcomputer, the number of bytes required to store a Chinese character is more than an English character.
	
	2nd statement

Chinese character can be imputed by a combination of keys on keyboard.
	A Chinese character require 2 bytes to store a word while a English character require 1 byte. ∴ the 1st statement is true.

2nd statement is also true, but it is not a correct explanation of the 1st statement.

∴ the answer is B.

	13. 
	(2000 MC No.47)                                                   
	

	14. 
	A computer company invites a famous chess player to play chess against a computer with high processing power.

This chess game is an application of ________.

A. computer assisted learning

B. multimedia

C. control system

D. artificial intelligence

(2001 MC No.1)


	Artificial intelligence simulate human thinking processes and actions. ∴ the computer can play chess according to store to stored knowledge base.

∴ the answer is D.



	15. 
	Which of the following is NOT an application of the Internet?

A. Electronic mail

B. Printer sharing

C. File transfer

D. Newsgroup 

(2001 MC No.3)


	The answer is B.


	16. 
	Mr Chan has submitted an electronic form for a job application through the Internet. In the field “Year of Birth”, he entered the current year.

Which of the following validation checks can detect the error?

A. Range check

B. Type check

C. Check digit

D. Control total 

(2001 MC No.4)


	A range check can ensure the input data lie on certain range, which can help to detect the error in this case.
;. The answer is A.


	17. 
	Arrange the following in ascending order of access time.

(1) floppy disk drive

(2) CD-ROM drive

(3) hard disk

(4) RAM

A. (4), (2), (3), (1)

B. (4), (3), (2), (1)
C. (1), (4), (2), (3)
D. (3), (4), (2), (1) 

(2001 MC No.10)

	The answer is B.

	18. 
	A data file of size 1.4 Mbytes is to be downloaded through a network with a transfer rate of 56 kbps (kilobits per second). What is the minimum time needed?

A. 25.6 seconds

B. 51.2 seconds

C. 102.4 seconds

D. 204.8 seconds 

(2001 MC No.11)


	1 Mbyte = 1024 x 1024 bytes 
1 Kbyte = 1024 bytes

1.4 Mbyte 
=
1.4 x 1024 x 1024 x 8 bits
=204.8 s 

56 Kbits/s

56 x 1024 bits/s 

;. The answer is D.



	19. 
	Which of the following could double the range of a floating-point representation?

A. increasing the length of the mantissa by one bit

B. increasing the length of the exponent by one bit

C. decreasing the length of the mantissa by one bit

D. decreasing the length of the exponent by one bit

(2001 MC No.12)


	Mantissa x 2exponent+1 
= Mantissa x 2exponen x 2 
∴ the answer is B. 



	20. 
	Which of the following methods should be used to protect files from unauthorized access?

A. data verification

B. data truncation

C. data validation

D. password

 (2001 MC No.19)


	With a password system, user can only enter the program with correct name and password, this can be used to protect files from unauthorized access.
∴ The answer is D.


	21. 
	Which of the following is/are interactive processing?

(1) using search engines

(2) playing computer games

(3) sending electronic mail

A. (1) only

B. (3) only

C. (2) and (3) only

D. (1), (2) and (3)

(2001 MC No.20)


	All of the 3 tasks involving continuing dialogues between users and computer, so they all consider as interactive processing.

∴ the answer is D.



